


Command Window

>> a=[1 2 3;4 5 6;7 8 9]

a =
1 2 3
4 5 6
7 8 9
>> af(:,3)
ans =
3
6
9
>> a(3,:)
ans =

>> af(:)
ans =

1
4
7
2
5
8
3
6
9
>> a(2,3)
ans =—
6



Command Window

>> a=[2 4 0 5 6 7]
a =
2 4 0 5 & 7
== a(2:4)
alls —
4 0 5
([2 3 51) Ao ¥ g ¥ B la yis) Ctalal
:::= <3 %57 Al AS) LS ulal
4 0 6
a =
2 0 4
5 T 9
19 8 3
>>» a([b5 6])
dlls =
7 8
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1 4 [ e e .
N (R R (P Q) e 4 pac
2 5 8
3 6 9
D )8 S0 e 1) J) st sla 4gl 0 das aal iy R
a(:,1)=1

Ot by sl b dadd ¢ o€ Cada ) G il SO G5l bl sl s 4SS ) sa )0
(e ourle ). ad JIE [] ol adas s

a( 3,: )=[]



Dl Ko s e ile S Joas

>> A
A =
1 2
3 4
>> A(:)
ans =
1
3
2
4
>> A(:)'
ans =
1 3 2 4

fx >>



o 39 s L yile 2l

AL SO Ol s 4l )y (i 4SS mxn gwyile S 2yl ones(m,n)

Al SO ol sl 4y el A4S mxm (il G alayl ones(m)

AL ha O sl 4l (L 4S8 mxn om e SO Al zeros(m,n)

AL ha o sl 4l )y (Wl 4SS mxm o ile SO Al zeros(m)

AL ha o) sl 4l Bl 5 So ol al 48 pxn g il S5 Al eye(n)

sl S 5 e G Aalal O a4 O 6 4 o el 4S8 mxn o yile o alal rand(m,n)

== ones(2,3)
ans =
1 i 1
1 i 1
== ones (2)
ans =
1 i
1 i
== eye (3)
ans =
1 O O
Q i Q
8] 8] 1
=>> eye(3,4)




not a number «aaa

DAl gl sl yial )L

jﬁ | (2R e ;‘-’\4 :
Inf Culgin .

NaN pga -
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>> 10e3 O en
alls =—

10000
>>

Command Window

>> leld
ans

1000
>>» 24e-2
ans =
0.2400
>> 35eb
ans =
35000000

10 U5 43 e SO Gl




A e Rl (O loal D) st o il 0 % Gedle

sl e 0l O O U8 U Sl 2 sl 4Ld g aa) gi 4l JAla Akl 3 50 53 e JI L

>> pl %Ratio of circle's circumference to its diameter

dans =
3.1416 O a8 4 o yly G
clc %clear command windows
clear %Yclear workspace variable

close all %close all current Figure



oS e oaliind ) st ) gl 430 ) A8 Jilial Jasha (a3 (sl format compact Jsies s
Do S dada (n SShglpcle Lfw =

AiSae SL ) Gl sad a0 Hlaae Da aS W el )b Wi clear all s =

2Saa SU 1y Cand oad A3 e JE4S g sl L clear a sive

280 e plalad Hllde) 28 ) jlea U] ) Glusdsa format short ) siwa =

A e il e eﬁ) 02 3L U ) ) Gluidss format long ey =

ot ) s e il ) WO Jsiws =



48l a) cale U a\ﬂ@dpy&&}mebomzmc;\} whos J)Iug n

>> wWho
Your wvariables are:

a d h jJ k w

>> whos

Name Size Bytes Class Attributes
a 3x3 72 double

d 1x3 24 double

h 1x2 4 char

I 1x1 8 double

k 1x2 4 char

v 1x1 2 char



W sala £lgdl Class

e & 55 double
sibhie uia ) Jogical
alalaa sym

sl cell
SIS char



W e Gl |y o ile SO Glgi st 5 sl el Sjze Hsiwy

>>» size(d)
amns =
1 4
S e dee 4l )l 50 4S8 Al iy I galaas
sum(x) X s 4dl 50 pan Juals m
prod(x) X sla 48l g0 0 pia Juals =
max(x) 28ta lay |y X 48l ge (0 38 )50
min(x) NSae oy |y X 48l g (p iSa S m
sort(x) A0 e |y X sl 4l e
abs(x) 28 )y X Gl j2E

sqrt(x) ,80e )X s =



>> d=[1 sqrt(10) 3 pi]

d =
1.0000
>> sum(d)
ans =
10.3039
>> prod(d)
ans =
29,8038
>> max (d)
ans =
3.1623
>> min (d)
ans =
1
>> sort(d)
ans =

1.0000
|

3.1623

3.0000

3.0000

3.1416

3.1416

3.1623



>> b=[1 2 3;4 5 6;7 8 9]

1 2 3
4 5 6
7 8 9
>> sum(b) LG..\;L..; e
ans =
12 15 18
>> sum(b,2)
ans = Ll raa
6
15

24



>> b

bh =

1 2 3

4 5 6

7 8 9
>> sum(b(:)) L 4l 2 alad aaa
ans =

45

Jx >>



